INSTALLATION MANUAL  INSTRUKCE K INSTALACI

POZEMNi KONSTRUKCE |H) Hetmaniok

Free-standing structures

KONSTRUKCE DVOUSLOUPKOVA
OCEL/MAGNELIS
2 PANELY SVISLE

Double support construction steel/magnelis
- 2 modules vertically

O W&H Sp.zo.0. 0 48794530721 = biuro@hetmaniok.pl IS0 9001
EN ISO 1090 1
ul. Kosciuszki 49, 48 575 530 721 » www.hetmaniok.pl EN ISO 3834 2

44 351 Turza Slaska



K 1. ROZVRZENI H) Hetmaniok

Layout 2

| ‘ | |

INSTALLATION MANUAL  INSTRUKCE K INSTALACI

Zmé&Ftte vzdalenosti na zemi, kde budou uml'stény sloupky. Measure out distances on the ground where the supports will be inserted.
Precise measurements taking into account width of the modules,

position of the slots in the bottom side of the cross beam as well as profile

Je velmi dlileZité pfesné zméit Sifku konstrukce . , A A A
oy , : ony | " connectors, are very important. Dimensions of the profiles and slots are in
s ohlgdem na solrku panvelu, qud°n| otvor)( v prvl.cnych’proflllech the attached drawings.
a spojky profllu J pZmcry, prOf“u aotvoru v prilozenych vykresech. The distance between the short and tall support posts is 225 cm.
Orient the construction due south. Set the support profiles in the ground
Rozestup mezi nizkym a vysokym sloupkem je 220 cm. least 130 cm deep, by hammering in or anchoring in concrete poured
Nastavte konstrukci smérem na jih. Profil zasadte do hloubky into post holes.

minimalné 130 cm zatloukanim nebo vyvrtanim otvoru
o préiméru 25-30cm a naslednym betonovanim



INSTALLATION MANUAL  INSTRUKCE K INSTALACI

2. MONTAZ HLAVNICH PROFILU H) Hetmaniok

Main support beam instalilation

——— Matice M10
M10 nut

Sestihranny roub M10
M10 hex-head bolit

PFipevnéte hlavni profil k del$imu sloupku, ndsledné ke kratsimu sloupku. (FJaStf;: ”I:;Z'Z’”Ifeam to the taller support post then to the short one.
K pfipevnéni pouZzijte rouby M10. setne ol



INSTALLATION MANUAL  INSTRUKCE K INSTALACI

3. MONTAZ VZPER HLAVNIHO PROFILU () Hetmaniok

Main support beam braces installation

Matice M8
M8 nut

Sestihranny &roub M10

M10 hex-head boit u

@D

Matice M10
M10 nut

Mezi zadni sloupek a hlavni profil osadte vzpéru s upevhovacim pliskem.
Vzpéru pfipojte k plisku a zadnimu sloupku pomoci sroubu M10, zatimco
plisek pfipojte k hlavnimu profilu pomoci Sroubu M8.

Sestihranny $roub M8

3x self-tapping screw

A‘
@w—i A

Matice M10
M10 nut

Sestihranny roub M10
M10 hex-head bolt

Fit the brace bar with the mounting plate between the rear post and the main
beam. Secure the brace to the mounting plate with a M10 bolt, then use M8
bolt to attach the mounting plate into the main beam and M10 boit to attach
the brace to the post.



v /v /

o 4. MONTAZ PRICNYCH PROFILU (H) Hetmaniok

Cross beam installation

Sestihranny
Sroub M10

M10 hex-head boit

N

INSTALLATION MANUAL  INSTRUKCE K INSTALACI

Matice M10
M10 nut

PFi¢né profily pfipevnéte pomoci $roubl M10 k hlavnim profillim Fasten the cross beams to the main support beams with M10 bolts using slots
vyuzivajic otvory na spodni &asti pficnych profiltl. I11the bottom side of the cross beams.



INSTALLATION MANUAL  INSTRUKCE K INSTALACI

5 MONTAZ SPOJEK PRICNY

Cross beam connectors instalfation

v s vrv o

Pomoci otvorll umisténych na boéni ¢asti pricnych profilll
a $roubl M10 namontujte spojky profild, ke kterym budou pfipevnény
dalsi pricné profily.

CH PROFH_LOJ |H) Hetmaniok

Matice M10

M10 nut and washer

Sroub M10

M10 screw

Using the slots located on the side of the cross beams insert the beam
connectors and fasten them with M10 bolts, to which following beams
will be connected.



INSTALLATION MANUAL  INSTRUKCE K INSTALACI

6. MONTAZ SVOREK (HJ Hetmaniok

Module clamps instaliation

Sroub imbus M8 «
M8 allen bolt

Svorka
Clamp

\ T-matice rhombus

Romboidal washer

Arrange clamps on the cross beams in the long 9mm slots on the top

Rozmistéte svorky na pfi¢nych profilech pomoci podélnych otvord : : !
side of the beam using M8 allen boits and romboidal nuts.

9 mm na horni ¢asti profilu a imbusovych $roubd M8 a kosoctvercovych matic. - _ _

Svorky stabilizujf deldi stranu panelu, Fadu panelt‘] zaél'najl' a kondi Clamps stabilise the Jonger side of thg mo;lule, on either end of a row of

Kon . rk tim mezi nel nachazei stfedové rk modules the end clamps are used while middle clamps are used between
OoNncove sVorky, zatimco mezi panely se nachazejl streaove svorky. modules.



INSTRUKCE K INSTALACI

7. MONTAZ FOTOVOLTAICKYCH PANELU

Na takto pfipravené konstrukci rozmistéte panely pfipevnénim svorek po umisténi
kazdého nasledujiciho panelu. Svorky by mély byt umistény na odpovidajici Sifce
panelu, v souladu s doporu¢enimi montazniho navodu fotovoltaickych paneld.

|H) Hetmaniok



	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8

